
                                  Sketch this one and solve for it 

[image: image1.jpg]6. The Earth has a mass of 5.98 x 107 kg, the moon has a mass o1 /.35 X1U™ Kg, anc
their center-to-center distance is 3.85 x 103 m. How far from the center of the
Earth is the Earth-Moon center of mass? Is the Earth-Moon center of mass above
or below the surface of the Earth? By what distance?

7. You are holding a shopping basket at the grocery store with two 0.55 kg cartons
of cereal at one end of the basket. The basket is 0.75 m long. Where should you
place a half gallon milk (1.8 kg) so that the center of mass of your groceries is at
the center of the basket?




